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FLIRTH RXEET656F1 DM 43,200 43,200 1.000 43,200
BREETH BIIET81EA 25,500 25,500 1.000 25,500
IMETH 81T B59%1 25,732 25,732 1.000 25,732
NG BB B4R FE 30 1 12,542 12,542 1.000 12,542
Er ] BIIET18182 14,000 14,000 1.000 14,000
Fi| 3] BE 134328653 10,400 10,400 1.000 10,400
BIATH FE184L2 T B 251 - 28,025 - 28,025 |EEMER
dRH IHETET— X 388 22,940 22,940 1.000 22,940
SEETH BRI 13,753 13,753 1.000 13,753
aRIR™  |#E)IET524%1 18,390 18,390 1.000 18,390
HwEM FEZ1228F1 18,200 18,200 1.000 18,200
BT KB FIRR182353 20,666 20,666 1.000 20,666
EINET |F=iR16E 7,400 7,400 1.000 7,400
FNH KEFRA FZIEIR10975 1 8,047 8,047 1.000 8,047
EMETH FEI81499%10 41,100 41,100 1.000 41,100
ERlH B AZET 1436 1 25,745 19,891 0.773 20,596 |ZEE|EHELV =8, THI0E E R {fi4& X 0. 8 |ZFRIEEMITIZET B,
TR TTEIRTA4E4 28,149 28,149 1.000 28,149
FREM RRFIRTS T B 27& DN 28,463 28,378 0.997 28,378
BRI b ERT E H395% 1 18,750 18,750 1.000 18,750
+ 3l i+ BIAT928 % 1 19,262 19,262 1.000 19,262
BEM FEEX452E 1 21,348 21,348 1.000 21,348
=% AIBET 122 406 38,000 38,000 1.000 38,000
REM WR96E 1 3,400 3,400 1.000 3,400
FiEm £ #1236%1 16,200 16,200 1.000 16,200
&) TERZ BT666%4 19,421 19,421 1.000 19,421
G EB3%&A4T B 15581 11,650 11,650 1.000 11,650
ERAT | FxEk173% 13,000 13,000 1.000 13,000
ZEllm SEER 135051 7,051 7,051 1.000 7,051
HEEL 24,681 24,681 1.000 24,681
Z R KAAR3TH24%2 0N 15,995 15,995 1.000 15,995
BEEH T B 416581 22,700 22,700 1.000 22,700
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FEH KKHET198% 1 44,200 44,200 1.000 44,200
ILE™ | Keha55%1 18,550 18,550 1.000 18,550
et oditl TEBE101E19 22,500 22,500 1.000 22,500
b 5&)11698% 1 26,000 26,000 1.000 26,000
A& AT # B ET350%1 22,000 22,000 1.000 22,000
giEEs  |126%3s 20,405 20,405 1.000 20,405
FARITET FEF243%1 13,850 13,850 1.000 13,850
= EHT F=ESE 19,200 19,200 1.000 19,200
K0P ET F FE14%E23 22,000 22,000 1.000 22,000
ARERHET  |FEmEi1E2 22,825 22,825 1.000 22,825
+ARET hE7E1 30,750 30,750 1.000 30,750
FEE BB AT FEE314E4] 5,700 5,700 1.000 5,700
RET FEEKET1028%1 10,500 10,500 1.000 10,500
J\EHT STE301E1 21,800 21,800 1.000 21,800
RKAEET  |FxE115%1 16,115 16,115 1.000 16,115
STEMT NI AT306% 14,050 13,970 0.994 13,970
L /ERT |dR309%1 15,150 15,150 1.000 15,150
[EiREET  |E%260%1 14,950 14,950 1.000 14,950
Z LR T B HE348E 1 13,090 13,090 1.000 13,090
B R BT = E295% 1 6,050 6,050 1.000 6,050
5 EH 5444752 20,800 20,800 1.000 20,800
H1-HE |[tRLREEE? 16,450 16,450 1.000 16,450
Bt = 006%2 9,020 9,020 1.000 9,020
FFERET ERET T RI310E 11,795 11,795 1.000 11,795
BWRNET [FBEAT7IES 15,260 15,260 1.000 15,260
FRRR AT FAA48EY 22,550 22,550 1.000 22,550
—tafT [ERi62EH 22,880 22,880 1.000 22,880
BEFH FH65FH 1 20,290 20,290 1.000 20,290
BEMA |E=2218s5 19,596 19,596 1.000 19,596
E5RIRT | FRE274E1 22,240 22,240 1.000 22,240
TABHET =117 11251 23,595 23,595 1.000 23,595
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BENRHET  |F/\ig104%1 24,090 24,090 1.000 24,090
FHFNET BB EN265% 1 21,103 21,103 1.000 21,103
= HHET FIE270% 22,689 22,880 1.008 22,880
b=k D) REEHAH TR/ 1705 9,212 9,212 1.000 9,212
#MERM  |FhongY167%24 8,910 8,800 0.988 8,800
T FHET K FIRLERT243% 46 8,525 8,525 1.000 8,525
o FHT RAT512% 11,605 11,591 0.999 11,591
1= KHET JLRT2T B 4451 26,620 26,620 1.000 26,620
Bl ILIFAET341%1 28,402 28,402 1.000 28,402
FRAENNAT  |FHm163%2 10,846 10,846 1.000 10,846
R IR AT 3134%4 18,590 18,590 1.000 18,590
EHITHT |FEHT000E! 22,070 22,070 1.000 22,070
FEIET  |F38203F 1 13,395 13,395 1.000 13,395
H{=HT Wifis34% 27,060 27,060 1.000 27,060
£ 2rT 8652%:2 21,120 21,120 1.000 21,120
EILET =HA23&1 24,852 24,852 1.000 24,852
Rkl FHLER112359 16,445 16,445 1.000 16,445
SEEIET FRIMN6TIETS 19,100 19,100 1.000 19,100
B+ ) BT |9 943% 20,680 20,680 1.000 20,680
BEESHERT  [TAME1326%1 27,000 27,000 1.000 27,000
B BIET |+ BI2036%2 23,100 23,100 1.000 23,100
BT Frh B68%09 19,150 19,150 1.000 19,150
JLEET FH92%E3 17,600 17,600 1.000 17,600
;8 AT FiLE2115132 8,883 8,250 0.929 8,250
& AT 10927% 23,000 23,000 1.000 23,000
RAHEET | TEagi29%s 38,500 38,500 1.000 38,500
L FRET 7246%1 12,580 12,580 1.000 12,580
L 7R BT 31615 8,470 8,470 1.000 8,470
= RIET FEA3BE 12,100 12,100 1.000 12,100
EJneEr FH7K604%2 - 13,944 - 13,944 |EEMER
EL] 785%36 25,867 25,867 1.000 25,867
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EHRHT TR E7362%20 11,360 9,378 0.826 9,378
= B EHET[1391%:2 14,850 14,900 1.003 14,900
F'E B FrHT | SHr2Es 14,025 14,025 1.000 14,025
= BT rsmE1925%1 13,651 13,651 1.000 13,651
=peR ol FL LNy T REE5TE39 8,800 8,796 1.000 8,796
FNFEAT B/H59%1 14,058 14,058 1.000 14,058
| BT FRET2797% 15,700 15,700 1.000 15,700
I BT 2252001 %1 9,980 9,980 1.000 9,980
e FEE1E 18,483 18,483 1.000 18,483
ERFRH[FERTR86E 12,430 12,430 1.000 12,430
o)1 BT FE162E1 14,311 14,311 1.000 14,311
MRANARIET  |FFF010439%2 12,095 12,095 1.000 12,095
1B EHT £75589%10 15,690 15,690 1.000 15,690
INSERT FEHSE 14,850 14,850 1.000 14,850
o HITET TR 141 15,889 16,500 1.038 16,500
IR BT Frh1523% i 11,523 11,523 1.000 11,523
MLAIFT  |FHEBE247E 12,100 12,100 1.000 12,100
12 BII BT FAKTI5E 8,730 8,730 1.000 8,730
KiBHET = )110279%1 7,975 7975 1.000 7,975
R EEB 43425136 7,300 7,300 1.000 7,300
JETERIET | FEBIFRE 110054 13,200 13,200 1.000 13,200
hiFRIET  [FER13%1 18,550 18,550 1.000 18,550
EE] MBERRE41EA 13,900 13,860 0.997 13,900
X FEHORYI182F1 11,900 11,900 1.000 11,900
FL3CHT KEERNFNTHA550% 3,000 3,000 1.000 3,000
I 5L BT B FHEI6E 2,960 2,960 1.000 2,960
R E L HT| BT 2605 2,850 2,850 1.000 2,850
R S AT FTB345E1 5974 5974 1.000 5,974
EIRHET FHRE13% 1 21,237 21,237 1.000 21,237
ET FEE5E 18,400 18,400 1.000 18,400
4 B T FIUARIEI54515 17,490 17,490 1.000 17,490
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EEHT F 540251 10,954 10,954 1.000 10,954
INEKET |1k RI208% 1 14,498 14,498 1.000 14,498
HES i 20,676 20,676 1.000 20,676
& P T FLT60E 18,733 18,733 1.000 18,733
{EBERT  |FEE239%1 19,412 19,412 1.000 19,412
RERET BT H1E4 16,696 16,696 1.000 16,696
EL FEERH=K51981 19,596 19,585 0.999 19,585
& FET FHHIL—EE117152 15,400 15,400 1.000 15,400
i) FL #1120 18,300 18,304 1.000 18,304
FHEERFT  |FrEEmie1E 6,720 6,720 1.000 6,720
T EHT LR 5281 10,670 10,670 1.000 10,670
K ZelT S TIPS Gk 22,385 22,385 1.000 22,385
£ AT FHER26%E9 50,050 50,050 1.000 50,050
T EEET 3% 2 BT390% 1 19,453 19,453 1.000 19,453
=EZ:) 1ZET700%1 7,590 7,590 1.000 7,590
[EET) FEIF278%1 16,700 16,700 1.000 16,700
RISREAET | &RbET75%3 27,500 27,500 1.000 27,500
] BRFE127E1 8,750 8,750 1.000 8,750
OhbHET [ER21E 13,475 13,475 1.000 13,475
H = Hy E)IH4T B627E1 18,200 18,200 1.000 18,200
T Ex BT AET163%2 DR - 12,980 - 12,980 |EEHMER
e BT FEIT192%1 15,900 15,900 1.000 15,900
;A Al BT FFHE80E?2 19,850 19,850 1.000 19,850
FRASUET FH 30051 12,700 12,700 1.000 12,700
ZYBHT  |FHAI595%1 7,350 7,350 1.000 7,350
O ET [SmER1325 1 26,900 26,900 1.000 26,900
= FHRMFEEAIE 28,100 28,100 1.000 28,100
T iRET Fh R84 16,300 16,400 1.006 16,400
L HIRET  |FEtiRssR248E 7,700 7,700 1.000 7,700
3L HETAT H4E1 15,800 15,800 1.000 15,800
FRHET FEREBIE 8,770 8,770 1.000 8,770
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& IKET FHEE40B 17,800 17,800 1.000 17,800
F=ME TR iba4s32% 25,400 25,400 1.000 25,400
hALARAT  |HfnmE2sm2a1 & 11,300 11,300 1.000 11,300
VRS FEA AR 116F1 9,450 9,450 1.000 9,450
AABHET EAT15%1 8,750 8,750 1.000 8,750
ILERT FHA1TE 10551 4,752 4,752 1.000 4,752
= I BT =48)11668%1 25,960 25,960 1.000 25,960
st E BT FEE2E4 20,735 20,735 1.000 20,735
T o) —E166% 16,050 16,050 1.000 16,050
7 BI| BT iz B 462%2 19,300 19,300 1.000 19,300
EEFHT B2 T B 126%1 18,550 18,550 1.000 18,550
= I BT FRERITE1 $2309F 1 10,395 10,395 1.000 10,395
SH SR BT FEEIMEA 17,402 17,402 1.000 17,402
£l E& AT FRAMREE R 1946051 7,250 7,250 1.000 7,250
[EEHT AE5DEY5E2 6,070 6,070 1.000 6,070
JE A ET ZEHTE2RT0E 5,050 5,050 1.000 5,050
= R HT LILS8TE 7,000 7,000 1.000 7,000
BFER |[FEH%esE2 9,250 9,250 1.000 9,250
BER FEEEHL104TE2E 5,310 5,310 1.000 5,310
B #RET KEETE1450151 12,400 12,400 1.000 12,400
R AT E&ER12251 5,500 5,500 1.000 5,500
HZEE] | FEEII6E 5,850 5,850 1.000 5,850
= AT F )1l 4L R T 25 Hh 1 5,500 5,500 1.000 5,500
iA=L FIRATA2IET ] 4,156 4,158 1.000 4,158

ZEHEIS O FY (EEHETH (FER) ZER<) 0.997




